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AT1100052 #4=(x 18)
AT110198 e s (1 21)
AT110224 0 A1z (& 24)
AT110204%% & 4% (1 27)
AT1100162 & = (& 30)
ATIT10001 7 #% & (= 33)
AT110060 7 R (. 36)
AT110097%]28 = (& 39)
AT110194r 3% & (& 42)
A7T110061/ % & (& 45)
AT110229%2 ,%g;é?l(ﬂ 48)
AT110090% #29 ( 51)
AT110219%] % 4=( 54)
A7T110048% 24z (& 57)
AT11020148 48 3% (& 60)



A71100592 < 42 (2 61)
AT1100394+ # (& 64)
AT1100082 & 7 (1 67)
AT1100944 & & (& 70)
ATII005TH 2 = (% 1)

AT110065H % 8 (% 4)

AT110019: p #7(% T)

AT110028% 41 (% 10)
AT110083 3 R (% 13)
AT110032%7 365 (% 16)
AT110145% 4 8 (% 19)

FTAPE VAL AREST (253207

A8210049% +p % (= 1)
A8210043% & 57 (1 4)
A821001 1+ A (1 7)
A8210070+k &2 (1= 10)
A8210022%14# < (= 13)
A8210004 434 #2.( 1 16)
A8210056 + (= 19)
A8210047 # =% (1 22)
A82100482 + (i 25)
A82100324 "% % (# 1)
A8210072% 3 % (# 4)
A8210025% % 47 (# 1)
A8210009% 2 = (#10)
A8210077:PF £ (#13)

ATIT0071+ 2 % (= 62)
AT110127m X % (& 65)
AT110230 % 5+ (= 68)

AT110064% £ % (% 2)
AT110117% & 1% (% 5)
AT110023'~ % (% 8)
AT110004 % ®He (& 11)
ATI10031 ;P47 (& 14)
AT110056F2E ® (% 17)
AT110087 & iw 7 (% 20)

~HPAE )
A82100263F » £.(2)
A8210041 %4 (£ 5)
A8210058 & 4 4=( 1 8)
A8210079 =& (= 11)
A8210020 % & = (& 14)
A8210021+kz= i (= 17)
A82100597% i3 (= 20)
A8210040% = (1 23)

A8210015= & 4&(# 2)
A8210006% % #(#5)
A8210055m k(% 8)
A8210082% & A2(#% 11)
A8210092% £ 44 (% 14)

Y20 F1 > H 20 1

AT110025%¢ = 3~ (& 63)
ATI10217+ =4/ (= 66)
AT110053% At (1 69)

AT110069%% £ £ (% 3)
AT110086%F~ & (% 6)
AT110062r ¥ £(% 9)
ATI101294f frxd (& 12)
ATI10007 & ®4-(# 15)
AT110050+ % % (% 18)

A8210045 58k 32 (1 3)
A8210031% 424 (1 6)
A8210037 %)% (1 9)
A82100752 4 5 (2 12)
482100162 & 5 (& 15)
A82100353% % (2 18)
A82100073 % < (& 21)
482100342 % i (& 24)

A8210017% £3&(% 3)
A82100033& 75 & (% 6)
A8210065% # P (% 9)
A8210039r & = (% 12)



